(7 3 Linearized knot diagam
SO

4
(\‘)/J Solving Sequence

l\/ 477?8?3?9?67)2?17)5%61’04
A knot diagranﬂ 7 ° s 0 ? ? °

Ideals for irreducible component#ﬂ)f Xpar

I = (u” — 2u® +2u® —u? +1)
I = (w4 u® 4+ 2u+1)

* 2 irreducible components of dim¢ = 0, with total 27 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LIy = (u” —2u® 4+ 2u® —u? + 1)
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(iii) Cusp Shapes = 4u® + 4u* — 8u® — 4u? + 4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 W —2u® 20t — 241
cr
C2 u” — 5u® 4+ 1205 — 17u* + 15u® — 5u® — du + 4
Cs,C8 w4 2u° — 2ut + 4w — w4+ 2u+ 1
Cg, Co w4+ 4u® +8uP +8ut + 4+ +2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,€3,C4 yT — 4y 8y° — Syt Ay — 22y — 1
C7
2 Y7 —y® 4+ 4y° + 13y* — ¢ — 9y? 4 56y — 16
Cs, C8 y" + 4y° + 1245 + 16y + 20y + 19¢% + 6y — 1
Cp,Cy Y + 80 — Ayt + 2497 — 92 42y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

1.125110 4 0.3431891

—5.94607 — 3.763571

—10.60460 +- 4.244591

IS

1.125110 — 0.3431891

—5.94607 + 3.763571

—10.60460 — 4.244591

<

0.364544 + 0.7017941

1.82567 + 1.846831

1.12815 — 1.093241

0.364544 — 0.7017941

1.82567 — 1.846831

1.12815 + 1.093241

—1.125830 + 0.5662901

—2.65707 + 11.686301

—5.70307 — 8.845091

—1.125830 — 0.5662901

—2.65707 — 11.686301

—5.70307 + 8.845091

clele

= —0.727635

—1.24946

—7.64100




II. I¥ = (u?® 4+ u'® — 4u’® — 5u!7 + 8u'® + 13u'® — Tult — 20u!3 — uw'? +
19u! + 10u® — 10u® — 11u® + 2u” + Tub + u® — 3u? — ud + 2u? + 2u + 1)

(i) Arc colorings
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(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4u'8 — 16w +36ul* — 48u!2 + 44110 — 28u® — 447 +16u8 + 8u® — 8ut — 8ud +4du +4u—2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 u20+u19+_._+2u+1
cr
C2 (u'® + 20 4+ u® 4 4uS + 6u® + u? — 6u® — 5u? +1)?
cs5, C8 u?® +3u? + . 4 16u+5
Cg, Co w0 +9u? 2w 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y20—9y19+---—|—2y2—|—1
cr
Co (yl() o 2y9 L= 10y 4 1)2
cs, Cs y*" +3y™? 4+ -+ 204y + 25
C6; C9 v 3y Ay 41




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 V—1(vol + /—1CS) Cusp shape
u = —0.941429 4 0.5476981 0.197299 —2.26625 4 0.1
u = —0.941429 — 0.5476981 0.197299 —2.26625 4+ 0.1

u = —1.061040 4 0.2735861

—2.27340 + 0.519981

—5.71661 — 0.775051

u = —1.061040 — 0.2735861

—2.27340 — 0.519981

—5.71661 + 0.775051

u = —0.626658 + 0.6336011

1.11960 + 4.654521

—0.79654 — 6.042471

u = —0.626658 — 0.6336011

1.11960 — 4.654521

—0.79654 + 6.042471

u = 1.128770+ 0.2401191

—4.83313 + 3.929831

—9.04400 — 3.214711

= 1.128770 — 0.2401191

—4.83313 — 3.929831

—9.04400 + 3.214711

= 1.016360 + 0.5523701

1.11960 — 4.654521

—0.79654 + 6.042471

u = 1.016360 — 0.5523701

1.11960 + 4.654521

—0.79654 — 6.042471

u = —0.330984 4 0.7581571

—0.32496 — 6.686161

—2.49331 + 5.219941

u = —0.330984 — 0.7581571

—0.32496 + 6.686161

—2.49331 — 5.219941

u = 0.527984 4 0.6302061

2.55688

236717+ 0.1

u= 0.527984 — 0.6302061

2.55688

2.36717 4 0.1

u = —1.119570 + 0.5081451

—4.83313 + 3.929831

—9.04400 — 3.214711

u = —1.119570 — 0.5081451

—4.83313 — 3.929831

—9.04400 + 3.214711

u = 1.102100 + 0.5570391

—0.32496 — 6.686161

—2.49331 + 5.219941

uw = 1.102100 — 0.5570391

—0.32496 + 6.686161

—2.49331 — 5.219941

u = —0.195538 4 0.6534721

—2.27340 + 0.519981

—5.71661 — 0.775051

u = —0.195538 — 0.6534721

—2.27340 — 0.519981

—5.71661 + 0.775051




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1,C3)C4 (0 —2u® + 20 —u® + 1) (u® + u'? + - 4+ 2u+ 1)
cr
Cs (u” — 5uS +12u° — 17u* + 15u® — 5u® — 4u + 4)
St 4 20® + u® 4 4u8 + 6u® + ut — 6u — 5u? +1)?
Cs, C8 (u” 4 2u® — 2u* + 4u® — u? + 2u + 1) (u®° + 3u'® + - + 16u +5)
Ce Co (u” 4+ 4uS + -+ 2u+ 1) (W + 9u® 4+ 20 + 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3,C4 (y7 _4y6 2y — 1)(y20 —9y19 +~--+2y2 +1)
cr
c2 (y" —y® +4y° + 13y* — y® — 9y* + 56y — 16)

(' =2y - =10y + 1)

cs. cs (y7 4 495 + 12¢° + 16" + 20> + 19y% + 6y — 1)
(" +3y™ + - - + 204y + 25)

Co, Co (y" +8y° + -+ 2y = )(y* +3y" + -+ 4y + 1)
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